University of Dayton

Supplemental Life, Dependent Life and AD&D Rate Information

Monthly Rate Chart

	Employee’s Age
	Employee Life Rate/$1,000
	Spouse’s Age
	Spouse Life Rate/$1,000
	Child Life Rate/$1,000

	Under 30
	$0.06
	Under 30
	$0.05
	$0.17

	30-34
	$0.08
	30-34
	$0.07
	

	35-39
	$0.09
	35-39
	$0.09
	

	40-44
	$0.12
	40-44
	$0.11
	

	45-49
	$0.17
	45-49
	$0.15
	

	50-54
	$0.30
	50-54
	$0.24
	

	55-59
	$0.53
	55-59
	$0.41
	

	60-64
	$0.67
	60-64
	$0.67
	

	65-69
	$1.27
	65-69
	$1.05
	

	70-74
	$2.06
	
	
	

	
	
	
	
	

	AD&D
	Employee Protection Plus Plan Rate/$1,000
	Employee w/Family Protection Plus Plan Rate/$1,000
	
	

	
	$0.0187
	$0.0286
	
	


Premium Calculation Worksheet

1. My age is _____________.

2. I choose $________________ in Employee Supplemental Life Protection (1x, 2x, 3x or 4x Base Annual Salary)

3. My monthly cost of Employee Supplemental Life protection is:

$_____________ divided by $1,000 x ______________ = $_______________.

(amount of coverage)

(rate/$1,000 from chart)    (monthly cost)

4. My spouse’s age is __________.

5. My Spouse Life Protection is $____________.

(The maximum spouse term life protection under this plan is $20,000)

6. My monthly cost for Spouse Life Protection is :

$_____________ divided by $1,000 x ______________ = $_______________.

(amount of coverage)

 (rate/$1,000 from chart)
(monthly cost)

7. My monthly cost for Child(ren) Life Protection is:

$_____________ divided by $1,000 x ___$0.17_______ = $______________.

(amount of coverage – either $2,000, $5,000 or $10,000)        (monthly cost)

8. My AD&D Protection Option is (1x to 10x Base Annual Salary):

$____________

 9. 
My monthly cost for AD&D Protection (Employee Protection only) is: 

$_____________ divided by $1,000 x ___$0.0187____ = $______________.

(amount of coverage)




(monthly cost)

10.  My monthly cost for AD&D Protection (Family Protection) is:

$_____________ divided by $1,000 x ___$0.0286____ = $______________.

(amount of coverage)




(monthly cost)

       11.
Total Monthly Cost is the Sum of Lines 3, 6, 7 and 9 or 10 $___________. 

